0V OO A 2052/0302/0722

lll Semester 3 Year LL.B./VII Semester 5 Year B.A. LL.B.
(Maj.- Min. System) / VIl Semester 5 Year B.A. LL.B./B.B.A. LL.B.
Examination, June/July 2018
LABOUR LAW
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Question No. 9 and five of the remaining.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answer should be written either in English or in Kannada
completely.

Define and explain the term “industry” with the help of
decided cases.
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Define “Lock Out” and explain the circumstances under which
Lock Out is legal and illegal.
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Write a note on partial disablement and total disablement.

PN LRRDFFI DR RoTPF LRRFFS TINT Woed 1378

WBOW0.

Explain constitution, powers and procedure of E.S.|. court. Marks :
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Discuss the provisions to safety under the Factories Act, 1948. Marks :

1948 SHF S ©RACDITRODE, ROTE RoLodrs e:oduoc_sm*di
23237 R0,




2052/0302/0722 2- A0 0 O 0

Q. No. 6. What is a Trade Union ? Explain the procedure for registration
of Trade Union. Marks : 16
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Explain appointment, powers and procedure of authorities

(Inspectors) under payment of Wages Act.. Marks : 16
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Write short note on any two of the following : Marks : 2x5=10
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a) Maternity benefit
0N FPwY,
b) Standing orders of their utility
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c) Industrial Dispute.
Badneng .

Q. No. 9. Solve any two of the following : Marks : 2x10=20
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a) Akshata and Co. is a public utility service industry where
a strike commenced during the pendency of concilation
proceedings and the workmen plead that the strike was
provoked by employer. Decide.
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b) A was the employee in the Lory of B. His duties were to
X and the materials on the Lorry and to go with same for
unloading the materials at the work spot. While the Lorry
was moving he attempted to hit rabbit passing on the
read and in the attempt he fell down from the lorry and
died. His wife wants to claim compensation. Advise her.

‘e’ D ‘W T COCHE, TEDFBTONTI. ‘¢’ T FODFTY TROD
20 m’ma;irrﬁ#aﬁi B0ORHT W) LoD wWed TSR
e quﬂrﬁe}ﬁl faojarrgédq 300 [RBDOR)T, SO0
BORITowN, ‘@’ D TFoD Foed BREMISTOH mwsi
BRBODL FODSRTI =) & FoPIRY, It W R0
TBRED. ‘¥ I ToBSEW ZOTIT WBCL mg’ogmoé.

LORON ROD VeR0.

‘X’ a member of registered Trade Union refused to
contribute towards the political fund of trade union. He
was expected from the trade union for the same. X’ challenges
the expulsion order. Decide.
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